AFt-EE
(5TA—I4-5TH—)L4)

B - Bl
BEI-EFED
A -E

(Boh2-Hoh2)

BH-IT
(TBA2-TBA2)

=5 EHED
(BFEHE3-RFEHE3)

BL-Je st
(BB4-882)

INA-EF

(JNER3-/NERYI)

RI-BAK
(BkI3-54£12)

BEH-FIo
(RIRE2- RIRE2)

AH-TTA
(KH=2- KA

MNE-IUN
(R4 R E2)

401

408

402

409

416

BFDD

11848(1)
wiy>7)—

410

403

411

417

420

414

419

405

406

407

415

K- £H
(RPAR4-RPKRI)

On A - #eply
(B¥2-AE2)

INETR - BRARE

(VDI3FA2-VI5EA2)

R-=2H
(BbkI2:H4I12)

¥g-ILE

(TBA2-TBA2)

K&K
(B +$E3-ELEES)

sA-FF L
(E#AI-HEKI)

il -EA
(Bl F2 - E % HE3)

= H - P
(RFRE3-BFEE3)

nE-=8
(RRE1- RIREN)

SFA-E

(J-Birds1+J-Birds1)

23K MR
(FATT4TAT54)



BEFDE

11A128(8)
RKREIBEF v/ X
=t-EE I B
(BEFES-BEFE2) (T3 FEk3)
408 412
8 R - I - =R
(BB -FERD (Bb&kl2:54I2)
401 404
#?R-5 | | R8T
(#O—/N—2-H0—/\—2) (EBFE2- EBFE2)
416 418
Ef-ES
(RIRE3- RATREN)
SIE-EH 405
(35—2123-35—213) N
| INER- TR E
GRRK2-5UK2)
409 413
ne-s W -BEE
(B3.3-H%3) (B/\R3-F/\K3)
420 421
BHE-IUE RIS - 4T 55
(#a—/—3-50—s3—3) (PR3- R3)
410 414
WRE-EHH _ - EF =I5
(Poona3+Poona2) (B4£3-B43)
402 406
Ea-KE ] | INR - KEE
(BfeM2-BfEME2) (KREE3- KEE2)
417 419
AR -EE . _ BE iR
(FEBR2- 2 ER2) (NER2-/NER2)
403 407
FIE - FE U ] L BEAR-EK
(BA%E2-BA42) (BEFE1-BEFET)
411 415
=H-Etm INER-FEER

(h3-ch43) - (UA—/\—4-H0O—/\—4)



fEiE- A2
GRIEM2- 5EM2)

k=1l
(RP&1-KPAL)

EiE
R HAFE
Py S

&H-1)
(E#A3- EHK3)

RFEE-Fik
(J-Birds3- J-Birds4)

FR-#L
(A®3- A1)

RE-1LUEE
(HBoh3-Hohn3)

Ho-EE
Ha—/\—2-90—/\—2)

F - KH

(RARE1-RRE1)

W48
(BEFES - BEFE4)

401

402

BEFDE

12H38(R)
EtXHHEEL 42—

407

_ R-dl
(5TF—ILM1- RIREM1)

415

408

N A0

(Poonal*Poonal)

TE-ER
(EFH2- 5 T2

R - 8RR
(R3-FR2)

405

T E - MREF
(b&I3-54£22)

419

409

it i
(Bi%4-BiED

KE-E#
(PA—/"\—4-H0O0—/\—4)

413

403

416 418

410

AH-MES
(RPE=1-KPARD

AM-itE
(FE2-F2E2)

406

RE 1R
(FEMR2- 2 EMR2)

414

=T
(ZTFH—IM1-5TA—)LM1)



BEFD@

12A98(%)
EtXHHEEL 42—

IR KM AE-1RIE
(B3%4-Bik4) (hg4-hg)
408 412

TSl
(B&E1-B4£1) | %@44%;#&9
401
KiZE- Rl J EE-E2E
(BEFE1-BEFE1) (E5—>a1-35—21a1)
416 418
BO-JIE
(RPL2-KPE1
4 -+ H 105
(Ha—/N—2-90—/3—2)
- i
GEEr2-%E2)
409 413
BAAR-#AK - 82
(BbkZ4-HLI4) (BFE54- BEE4)
420, 421
FER-&1 ERrRR-ZE
(B34- B H4) (J-Birds4* J-Birds3)
410 414
EH-fEk #a)1] - LU EF
(RP£2- KP4 (EEFE3-BEFES)
402 406
RN -2BIT 7K - KER
(B/\F3-E/\F3) (FRK3-HIK3)
417 419
JIEE-FNE HH-FE
(J-Birds2+J-Birds2) (B&2- El EZ)
403 407
-1k SR ED
(RRE1- AREN) (RFEE1-RFEE1)
411 415
peg= LSl Bt &

(g4-hgd) (TBA4-TBA4)



